EAGRAROBREERT — 2 N— ABISH —F

20205 1A3A (&) 12@11/I53H

Ul Y T R—fix  C 3WAN

‘ [R1%] & ‘ [REBB] — | & (&) 15000 B

[AE£] 1 7% :900,000  ~ 23&:342,000 337 :225,000 43 :135000 F 5 & :108,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
SR s 7 | DOEEFNIE 1:39.2 6-7-5-2 [ 39.9| — 7 432 | NIBE (AEF)
ez 2 Fr e 54.0 (=) Cn | @ 77-ZrEvar
RO—=JXA 2214 B:vA32914>7 EvilLy RT7—L
7 fo4 | BIE 1:39.7 3-3-6-6 |40.3| — 3 | 498 | hnEEE— (Ilk)
2 gl eEAV)AT 54.0 2 1/2) g |BlIHE
L:hxexy BXRETELTC IR
3 e S it 6 | HlEIE 1:40.0 6-6-9-7 |40.3| — 1 499 | BBH— (I1IA)
3 | A3 I THN 54.0 (1 1/2) (-12) | BATE
L:ZARM)— ke BIVET«4F—L =]
N FEEE : —8-6- - H£EERS (GaF)
alslg|¥vamearmza B 7 o 1(.;/%2 8-8-6-8 | 40.7 10 ;1:127) B
Qi bk—L Bixv=4UY— S
= =5 #H o6 | BEEA 1:40.2 10-10-9-11 | 40.5 | — 9 486 |BBEHEE ()
5813 YA RTIATY X 8.0 57 o | B) TEES
Ly —3yFr Bivabryrd emi S S
=5 o 4 5 | HTHESR 1:40.2 2-2-3-3 | 41.1| — 2 437 | SFAER (J110)
6711|717 AN : 54.0 (757 1) | BEE—
Loy UAdyR B:TN—-3I>TH— BEZZY K
=5 i 8 | REDE 1:40.4 12-11-6-9 | 40.9 | — 8 427 | EEHES (AM)
71111 3710+ 54.0 (3/4) (-5) EHES
L:¥r/0704 B:7O0-73%v b ESstae]
3 = 4 7 | Rk 1:40.5 -1-1-1 | #1.7| — 12 | 451 | EEHSB (HF)
8 6 Ea—7« 56.0 (1/2) (-3) EHES
R:24—-Y>r/A—-x B:d-—d—-ZX#H HET7— L
. . . ft 5 | BEBZ 1:40.6 9-9-9-10 |40.9| — 1 419 | KEIBE— (11#)
9 4 I FvMAB 54.0 (3/4) (-2) EHEH
274 d=IVK B:v1zxv—H%1UZX EviLyRTr7—LA
I . 46 | R 1:40.7 5-5-4-5 | 41.6| — 6 470 | BIFER# (fafs)
1ol 5| 777 >XE b £54.0 (1/2) (7) | BASEER
LY LF14N—t B:vINvEY TR E—
= 4 5 | EERR 1:40.7 11-12-12-12/ 40.9 | — 13 40 |R=B (1)
1o | %7~ 56.0 (7579) Ly |ERER
R:2Z/F¥LLy b B:A—T vyt R/ E77—L
LK 4 5 | WisEL 1:40.8 3-4-2-4 | 41.7| — 4 477 | FELR ()1108)
12/ 8 /14| RV BILI A b 56.0 (3/4) 1) |ARZ
LY LTAN—t B:/—TINRZ— fiE E
4t 4 | BARE 1:41.1 14-14-13-14| 1.0 | — 5 497 | W@ (11&)
Eam 7L E b 56.0 i) p
L:g—MLRYIL B:O-XFy b— HET77— L
3 it 9 | FBEA 1:41.4 13-13-14-13| 41.1 | — 14 | 427 | FEEAKIE GEFD)
14|57 |73/ EES 54.0 (1 1/2) Ly | ERER
RiFLNnwy Tt BiHI/I54 BH T
® 1 —F—@EBIERL
1T=7r= 6,11,(3,14),5,(2,12),8,4,13,9,1,7,10
2a=5F= 6,11,3,14,5,2,12,8,4,13,1,9,7,10
Ja=9= 6,14,11,5,12,(1,3,8),(2,4,13),9,10,7
40—F— 6,12,11,14,5,3,2,8,1,4,13,9,7,10
[ N5
B O 12 1,710 714K 3-12 1,570 e E 3-7 1,1508 JEE 2-3-12 4,130
B B 12 340H 2-12 650 e B =3 1,890 3B 12-3-2 45,340
3 180M4 2-3 480M B & 3-12 5,180M
2 140/ B H 12-3 10,660M

ARICOVWTRDTEEERROODE. TR LI,




